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Me tn Borndeia

TOV KOPpUGWV TOU

| Twv opBoywvika ‘
- P I'(OYV ‘:g‘::qg?’vgzzﬂvprvmv
LHMEIO, X Y MHKOS |
1 304968.33 | 4233992.06 F
2 | 30497286 | 423300848 b -04 |
3| 304007.64 | 4233089 41 F2>-07
14 | 30499787 | 423308938 b 223
15 | 305008.59 | 423402351 3461
16 | 305005.59 | 423402336 220
17 | 305009.11 | 423402310 —2:53
18 | 305023.10 | 4234022.08 1402
19 | 305022.55 | 4234012.09 00
20 | 305010.40 | 423399320 1915
21 | 305009.44 | 4233992 29 18'28
22 | 305007.73 | 4283082.08 X
23 | 505002.65 | 428308198 |2
4| 304999.06 | 423398101 |22
5| 30490705 | 423398188 — .
6 | 30490523 | 4233981.86 L
7__| 804988.03 | 4233072.84
8 | 804967.88 | 4233972.85 >
o | 304987.42 | 4233072.86 -~
10| 304976.08 | 4233970.69 2~
11| 304972.02 | 4233967.95 72
12| 804970.53 | 4233980.95 | =
13| 804968 87 | 4233990.00 =
1 | 304968.33 | 4233992.96 '
E=1/2 (X + Xi+1)(% = @i+1)
E = 1229.43 1g@
S
s 1

" iy g
4 /
2’ - X=304996.11 y=4233986 ‘ 4":’/\/
3 X=304997.55 y=4233984.9
. 981.92

4 | X=308000.05 Y=4233
5 . X=305000.75 v=4233985.86

>HMEIO X Y MHKOZY
4 304999.06 | 4233981.91 ~ 63
3 304997.64 | 4233989.41 0:23
14 304997.87 | 4233989.38 34 61
15 305003.59 | 4234023.51 5 00
16 305005.59 | 4234023.36 353
il 305009.11 | 4234023.10 14.02
18 305023.10 | 4234022.08 10.01
19 305022.55 | 4234012.09 19.15
20 305019.40 | 4233993.20 10.00
21 305009.44 | 4233992 2 10.40
22 305007.73 | 4233982.03 500
23 305002.65 | 4233981 06 3 59
4 3049099.08 | 4233981.91
E=1/2 (X1 + Xi+1)(¥1 = Ui+1)
E = 732.22 p2 |

Me tr Borbeia N g
twv opboywvikmy OUVIETAYPEVWY f
Twy KOpUQmV Tou
JHMEIO| X v MHKOZ
e 304968.33 | 4233992.96
2 304972.86 | 4233993.18 4.4
a 304997.64 | 4233989.41 £0.07
4 304999.08 | 4233981,91 £.63
5 304997.05 | 4233981.88 01
6 304995.23 | 4233981.86 L
1 304988.93 | 4233972.84 o
8 304987.88 | 4233972.85 L0
9 304987.42 | 4233972.86 L
10 304978.03 | 4233970.89 AL
11 304972.92 | 4233967.95 —
12| 304970.53 | 4233980,95 —L3-22
13 304968.87 | 4233990.00 —
1 304968.33 | 4233992.96 —
E=1/2 (X1 + X+1)(&1 — d1+1)
E = 49721 p2 j




